Personal Data

e: M. WESSELS / RC LATHREY
Address: 1350 FEMRITE State: WI Zip: 53716
City: McNONA State: UI Zip: 53+16 Phone Number: 221- 5327
Phone Number: 221-325
Monitoring Location_
Date: 7/10/95 Time: 1100 HRS
County: DANE City: MADISON
TO THE MACAGE TO
Nearest Landmark (town, highway, boat ramp, bridge): U.W. CENTER FOR LIMNOLOGY PIER
Distance from nearest landmark:
Habitat Type: River/Stream Natural Lake/Pond Marsh/Swamp
Canal/Ditch Man Made Reservoir Estuary/Bay
Water Quality Parameters
Temperature: Secchi Depth:
•
Sampler Information
Total Water Depth: 9' Depth of Sampler: ~ 7' Learth of time sampler was in place (Days): 53 MAY 17 - July 10
Total Water Depth: 9' Depth of Sampler: ~ 7' Length of time sampler was in place (Days): 53 MAY 17 - July 10
Length of time Sampler was in place (bays).
nitoring Results
ILCOLING Resultes
Number of mussels found: # on Top side of Plates:
on Bottom side of Plates:
Total:
Size of the largest mussel (in mm): Size of the smallest mussel (in mm):
Size of the smallest mussel (in mm):
Density of mussels on sampler:
Density of mussels(N/M^2)=Number counted (N) X 10,000
Area Counted (cm²)
Area conversions for the plate sampler described in this document:
Plate Size <u>Area (in.²)</u> <u>Area(cm²)</u> 6" x 6" 36 232
6" x 6" 36 232 8" x 8" 64 413
10" x 10" 100 645
12" x 12" 144 929
Total (4 plates): 344 2219
Total (4 places). 344

ersonal Data ae: M. WESSELS/RC LATHROP Address: 1350 FEMRITE City: MENONA Phone Number: 221 - 236 6327 Monitoring Location Time: 1130 HRS County: DANC City: _ madison M ENDOTA Body of Water: __ Nearest Landmark (town, highway, boat ramp, bridge): TENNEY PARK. Bent RAMP Canal/Ditch ____ Man Made Reservoir___ Estuary/Bay ____ Water Quality Parameters Temperature: _____ Secchi Depth: _____ Sampler Information Total Water Depth: 4,5 _____ Depth of Sampler: Length of time sampler was in place (Days): 53 51 nitoring Results Number of mussels found: # on Top side of Plates: _____ # on Bottom side of Plates: _____ Total: ____Ø Size of the largest mussel (in mm): Size of the smallest mussel (in mm): Density of mussels on sampler: Density of mussels(N/M2)=Number counted (N) X 10,000 Area Counted (cm²)

Area conversions for the plate sampler described in this document:

	Plate Size	<u>Area (in.²)</u>	<u>Area(c</u> i
	6" x 6"	36	232
	8" x 8"	64	413
	10" x 10"	100	645
	12" x 12"	<u>144</u>	<u>929</u>
Total	(4 plates):	344	2219

ersonal Data Lie: M. USESSELS/ RC LATHROP Address: 1350 FEMRITE State: <u>WI</u> Zip: <u>53716</u> City: MENONA Phone Number: 221- 6327 Monitoring Location Date: 7/10/95 Time: 1150 HAS City: MADISON County: DANC MENDOTA Body of Water: _ Nearest Landmark (town, highway, boat ramp, bridge): MARSHALL PARK BOAT RAMP SLEW NE WAKE BUOY Distance from nearest landmark: Habitat Type: River/Stream ____ Natural Lake/Pond ___ Marsh/Swamp ____ Canal/Ditch Man Made Reservoir Estuary/Bay Water Quality Parameters Temperature: _____ Secchi Depth: _____ Sampler Information Total Water Depth: 5.6 Depth of Sampler: 1 Length of time sampler was in place (Days): 53 5/17 nitoring Results Number of mussels found: # on Top side of Plates: _ Size of the largest mussel (in mm): _____ Size of the smallest mussel (in mm): ____ Density of mussels on sampler: Density of mussels(N/M2)=Number counted (N) X 10,000 Area Counted (cm²) Area conversions for the plate sampler described in this document: Plate Size Area (in.2) Area(cm2) 6" x 6" 36 232 8" x 8" 413 64 10" x 10" 100 645 12" x 12" 144 929 Total (4 plates): 344

ersonal Data

LIE: M. WESSELS/RC VATHROP
Address: 1350 FEMRITE
City: MONTONA State: WI Zip: 53716
Phone Number: 22)-430 6327
and the Manager of th
Monitoring Location
Date: 8 13 96 Time: 1000
County: DANE City: MADICON
M × × × × · · · · · · · · · · · · · · ·
Nearest Landmark (town, highway, boat ramp, bridge): U.W. CFL DIER
Distance from nearest landmark:
Habitat Type: River/Stream Natural Lake/Pond Marsh/Swamp
Canal/Ditch Man Made Reservoir Estuary/Bay
vy 4 Oughthan Bomomomomo
Water Quality Parameters
Temperature: Secchi Depth:
Sampler Information
Total Water Depth: Depth of Sampler:
Length of time sampler was in place (Days):
nitoring Results
Number of mussels found: # on Top side of Plates:
on Bottom side of Plates:
Total:
Size of the largest mussel (in mm):
Size of the smallest mussel (in mm):
Density of mussels on sampler:
Density of mussels(N/M^2)=Number counted (N) X 10,000
Area Counted (cm ²)
Area conversions for the plate sampler described in this document:
Plate Size Area (in. 2) Area(cm2)
6" x 6" 36 232
8" x 8" 64 413
10" x 10" 100 645
12" x 12" <u>144</u> <u>929</u>
Total (4 plates): 344 2219